CNnoXHOCTb

# Has3BaHue ABTOp Oxupgaemas daKTnyeckas Pa3Huya
A |[lo KoHUa napbl BoBa MuwaHeLKuii 1,3 1 -0,3
B |CtpaHHbIli geBaiic Ovma Cafosbiii 3,6 5 1.4
C |®epnop 1 akoHKaryaxubl Makcum MonyaHoB 3,0 4 1,0
D |MoBpexaéHHbIn cepeep Ovwva Caposblii 3,6 5 1.4
E |3vmHuMe nogapku NeoHnp bepkosuy 3,6 4 0,4
F Annm B Bosa MuwaHeuxwii 2,3 4 1,7
G |Pechopma Ovma CafnoBsblii 45 5 0,5
H |Penop 1 mapLupyTku Makcum MonyaHoB 2,5 5 2,5
| |®dnomactepsl Ovma Caposblii 2,0 2 0,0
J |Binary Nuts NeoHnp bepkoBuy 1,8 2 0,2
K |BupTtyasibHas knaeuvarypa BoBa MuwiaHeLKwnii 3,3 5 1,7
L |TenedoHHble HOMeEpa Onma CafgoBbiii 2,0 3 1,0
M |HenpaBwibHbIl Kasibkynsatop |Boea MwaHeuxkwii 2,8 4 1,2
N |YMcnoBoii TPeyrosibHUK BukTopua PyBuHcKas 2,0 2 0,0
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CpaBLumnx
# Ha3BaHue KOMaHp,
A |[Jo KoHua napbl 25
J |Binary Nuts 22
| |[®dnomacTepsbl 21
N |UncnoBoii TpeyrosibHUK 21
L |TenetpoHHble HOMepa 14
F Annn B 6
C |denop 1 akoHKaryaxupl 5
E |3umHue nogapku 3
M |HenpaBuw/ibHblli KaJlbKyNnsaTop 3
D [MoBpexaéHHbIn cepBep 1
H |®epop n mapLupyTkm 1
K |BupTyauibHasa knaBuartypa 1
B |CTpaHHbIli geBaiic 0
G |Pethopma 0
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# HasBaHue OK | WA | PE | TLE | MLE | RTE | Total
A |[Jo koHua napbl 25| 2 8 4 45
B |CTpaHHbIin geBaiic 7 7
C |Pepop 1 akoHKaryaxLibl 5 4 2 9 1 26
D |MoBpexaéHHbIN cepeep 1 1
E |3umHue nogapku 3 17| 1 2 7 25
F Annm B 6 |19 | 2 1 19 7 54
G |Pethopma 4 4
H |depop n mapLupyTku 1 1 2
| |dPnomacTepsbl 24 | 14 | 2 1 1 43
J |Binary Nuts 26 | 4 1 32
K |BuptyansHas knasuatypa 1 1
L |TenetpoHHbIE HOMEpa 14 | 28 1 6 53
M |HenpaBu/bHbI KasibKynsTop 3 3 |4 4 15
N |YMcnoBoii TPeyrosbHUK 21 | 25 | 3 1 2 53
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